Construction division. Advice for giving credit to contractors/suppliers.

St. No. – site bills		08			e - site l	bills	12	09 21
register Company Name:				Reg Site:			15	<u>-09-21</u>
	N	1RP4F	2	Site	:		N	196
Name of Contractor		T: K	m	ann	Na.			٠
Nature of work					NOSK			
Work done	From	m Date		-08	יי	To Date	111-	09-21
Sl. Villa/Flat/bloc	k no.	Qty.	Rate		Units	Amor		Contractors bill no
1. Exavation		3564	08	<i>I</i> -	C6+	289	12/-	1
2.		594	08		C6+	475		
3.		122	80	1-	64	976		
4.		9360	08	1-	164	748		
5. Laying Pec !	red.	66	03	5/-	584	330	_	
6.		52	05	7-	57+	260	1-	
7.		3120/-	05	-/-	571	15,60		
8.		17941-	05	1-	584	897	0/-	
9. Doesting.		900	01		124	900		
10.		120	10		12+	364 12	Ď	1
11.	Total:					61,5	528.80/	
Bill required	B-YI	ES □ NO.		GST	bill requ	ired	□ YES €	LNO.
Measurement &		equired			urement		L4-Enclos	
estimate sheet: PO/WO no.	ΠNo	ot required			ate sheet O date:	:	□ Not en	closed
					O date:		_	
Remarks:	rosk	Camp	100	ed.				
								CATALON .
							1	
							1	
	II.						. 52	
Approved by Project	Manager	Appro	ved by	/ Desig	gn Team	Appr	oved by l	M.D.
Date: 13-109-	-21	Date:				Date:		
Sign:		Sign:				Sign:		
Notes: 1. This advice must b	e sent withi	in 7 days of com	nleting	work 2	Thie form	on ha ward	for antific	11 100

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill For Labour Charges

T. Kurmanna H.no:45 Bank colony ,Mallapur , Hyderabad

Date: 13-09-2021

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Earth works

Towards:

Allowance for Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of excavation, laying bed and dressing work. Total Amount: 61529/-	Rs. 24611/-
,	Work Done From Date 15.08.2021 To 11.09.2021	11 22 4

Amount in words: TTwenty Four thousand six hundred and eleven Rupees Only

Sign:	

Bill for Equipment Charges

T. Kurmanna H.no:45 Bank colony ,Mallapur , Hyderabad

Date: 13-09-2021

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Earth works

Towards:

Allowance for Equipment Charges

S No.	Description	Amount
1.	Brief description of work done:Towards completion of	71
	excavation ,laying bed and dressing work. Total Amount:61529/-	Rs. 24611/-
7	Work Done From Date 15.08.2021 To 11.09.2021	

Amount in words: Twenty Four thousand six hundred and eleven Rupees Only

~		
Sign:	TAN STATE OF	11

Bill for Consumable Charges

T. Kurmanna H.no:45 Bank colony, Mallapur, Hyderabad

Date: 13.09.2021

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work: Towards:

Earth works

Allowance for Consumable Charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of excavation, laying bed and dressing work. Total Amount: 61529/-	Rs.12305/-
1	Work Done From Date 15.08.2021 To 11.09.2021	4 2

Amount in words: Twelve thousand three hundred and five Rupees Only.

Sign: _	The state of	171	, ,

Estimation for Footpath cleaning from NGH to Main Road. Ver 1.

Company Name:		Mind Daally Danharam I I D				A paravad b	V-		
Project:		Nilgirl Heights				Sign Viji	Vijay raj		
Work Description:		Earth work							
Contractor Name:		T.Kurmanna							
Prepared By		Anil.M							
Date:	,	13.09.21							
			Α	В	ဂ	0	E=AxBxCxD	П	G=Sum of E
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
							3		
1 Excavation	That a	Excavation for block A footing purpsoe at south west of office	22.00	6.00	9.00	3.00	3,584.00	Ω	3,564.00
								184 TO 1	J.K.
		Excavation for north side external	3	ه 2	ه 3	22 00	594 00 Cft	3	
		Compound wall room B noise	0.00		9				
		Excavation for lawn purpose at			2	2	433 00	?	
		Iront side main compound waii	122.00		1.00	1.00		Oi.	
,	e " l"	Excavation for maingate plinth beam purpose at north west	00.80	1.80	1.00	2.00	93.60 Cft	Cft T	
2 Laying pcc bed	æ.	laying pcc bed in north side external compound wall footing holes purpose	3.00	1.00	1.00	22.00	66.00 Sft	Sft	
		laying pcc bed at north side security room for plinthbeam purpose	26.00	1.00	1.00	2.00	52.00 Sft	Sft	
		at block A north west side laying pcc bed for footing mat purpose	130.00	12.00	1.00	2.00	3,120.00 Sft	Sft	3,120.00
		I aving occ bed at labour quarters							
		for laying shabad stone purpose	69.00	13.00	1,00	2.00	1,794.00 Sft	Sft	
		at block A west side of footing area dressing for laying footing mat						!	
2 Person		purpose	30,00		1.00		900.000 Sft	St	
			12.00					Sft	
			12.00	10.00	1,00	1.00	120.00 St	Sit	
			-						1

-
ă
Ō
tb
_
으
_

Company Name	wheet	Madi Basik, Basharan II B		ΙΔ.	marginal him	
Project:	one.	Nigiri Heights		Siz	Sign	Vljay raj
Work Description:	xiption:	Earth work				
Contractor Name:	Name:	T.Kurmanna				
Prepared By	3y	Anil.M				
Date:		13.09.21	+	_		
S No.	Item Head	Item Description	Quantity Ur	Units F	Rate	Item Head Total
		Excavation for block A footing		_		
	Excavation	purpsoe at south west of office	3,564.00 cft		8.00	28,512.00
		Excavation for north side external compound wall footing holes	594.00 cft		8.00	4,752.00
		front side main compound wall	122.00 cft		8.00	976.00
		Excavation for maingate plinth beam purpose at north west security roman	93.60 cft	-	8.00	748.80
	2 Laying pcc bed	laying pcc bed in north side external compound wall footing holes purpose	66.00 sft	f	5.00	330.0
		laying pcc bed at north side security room for plinthbeam purpose	52.00 sft	∄	5.00	0 260.0
		at block A north west side laying pcc bed for footing mat purpose	3,120.00	sft	5.00	15,600.
		Laying pcc bed at labour quarters for laying shabad stone purpose	1,794.00	sft	5.00	00 8,970.
		at block A west side of footing area dressing for laying footing mat purpose	900.00 sft	sft		900
	3 Dicoang		360.00 sft 120.00 sft	sft	1.1.1	1.00 360 1.00 120
					Total Amount:	nt: 61,528

